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Note: All questions are compulsory.
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[5 Marks] State True or False with reasons:

Every Eulerian simple graph with an even number of vertices has an even""n‘
A simple graph (i.e., a graph without parallel edges or self- loops) w‘lth n, vertwes and k components can
have at most (n — k)/(n k+1)/2edges.

¢. Inacomplete graph with n vertices there arc (n~-1)/2 edge i
odd number > 3. % %, . B
d. Every tree has only one center. ”“g Ry s

4
A clique in a graph is a set of pairwise non adj acent V"Ql:glces*"%‘r . %

[5 Marks]

Prove or disprove: Every closed odd walk s;on"’c n
Prove or disprove: Every tree with aVE%L;(} d@grge a have 2/ (2- a) vertices.

[5 Marks]

%
Draw the minimum spannin tree (roo rtex: A) found by running Pr1m s algorithm on Flgure 1. Prove
p t%;;@

that Prim’s algorithm pr(%guces% mlmmum-wexght spanning tree of G.
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